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(The complete solution) Jes// JsJ/ 4
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Ex/ y'+y=0, y(1)=3 , y(1)=4
While y"+y =0y(0) =1 ,y(§)=5

Ex/ consider the following O D E

y'+y=0 , y0)=1, y(m=1
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Yy =cosx —sinx
EX/ find the general particular singular solutions for the following (O D E)

y'=0, y'(@O=1, y)=2

SOL/ By integrate we get the general sol
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From the first condition, we get the value of c1 :
(0O)=cl=1,c2=1;

And from the second condition , we get the value of c2 :
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Y (1) =1+c2=2,c2=1
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H.W / Class if y the problem according the type of condition
Dy"+2y'=y=0 »y' @O =0y(1)=-1

2)y" +5y" —y =sinx y(ll) = 1,)7(%) =0

€€€€€¢€€¢€€¢CCCececdccecececceccececececcecceccecececcecccecceccecececcececcececes
€€€€€€€€€¢€CeCececcedececceccececececcecceccecececcecccecceccecececececcececees

\AAAAAAAAAAAAAAAAAALAAAAAAAAAAAAAALAAAALAAAAAAAALD



